Ra=S IMAOC
L L W
= ke
- G o
E ¢ —_ v 02| 3
- — i (R a mi - al a
L s? &3 U :
(Accurate)
d T A A : (Y
= L1 ‘
[AMWFH-M-L] |[AMWFH-M-S]
(Accurate)  (Standard) o {HH
— Body
SCM435 steel
(Standard) Quenched and tempered
Electroless nickel plated
M Accurate
D] D Weight [| Pneumatic Clamping
Part Number M (g6) L2 | L (f7) L | D2 |Ds| W (@) Modules
AMWFH49-M6L | M6X1 8 |35|13| 13 |21 ] 95|59]| 3 15 AMWFH49-S
AMWFH64-M8L | M8x125 | 10 |45[17| 15 |24 [115]79] 4 | 28 AMWFH64-S
M Standard
Part Number M [ (-02) L| D2 | Ds | W WER| | iz e Gl
04 (g) Modules
AMWFH49-M6S | M6X1 9| 13 |21 95|59 |3 | 14 AMWFH49-S
AMWFH64-M8S | M8x1.25 |12 15 |24 115|794 | 25 AMWFH64-S
Related Product

How To Install PNEUMATIC CLAMPING MODULES AMWEFH-S|PNEUMATIC CLAMPING MODULES



